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Q.No: 2

Q.No: 4

State Eligibility Test — 2017

Defence & Strategic Studies

(Final Answer Key)

Part-A

The alternate nomenclature of Defence and Strategic
Studies is :

Military Science
Military Studies
Defence Studies

All are correct

"Mandal Theory" was propounded by:
Arya Bhatt

Baan Bhatt

Kautilya

Nagarjun

Which one of the following was not a part of the 'Spy
System' as propounded by Kautilya?

Kaptik
Udasthit
Tapas

Vigrah

Which one the following thinker has propound the
'Theory of Expanding Torrent'?

Fuller

Jomini
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Q.No: 5 The concept of 'Geopolitics' was propounded by: ‘Si—ﬂa?ﬁﬁ‘ &I faar q?@?rfam qr :

A Clausewitz FoTIfaCST
B Jomini Siifae &
C Kautilya Fifeea o
D Haushofer FTNHET

yafaf@d safadeat (F-1) # 3% ganT & a1 Aerere (-
IT) & @Y gATId HIIT |

== | T — 1

Match the following personalities (List -I) with their

respective contribution (List-II): EF)‘}%—J
List-] List-11 . o P Re ggPd
a. Kautilya i. Guerrilla warfare \
Q.No: 6 K AT.Mahan ii. Peace . QE‘T el . 3ifcl
c. Mao-Tse-Tung iii. Mandal Theory . ,
d. Mahatma Gandhi iv. Sea Power . {3 T i, dUsd RIgTd
Code:
o, HElHT TE iv. HEfed ufdd
abcd F@ TG
A il diiiv il diiiv
B abecd F@ TG
ii v i ii v i
abcd FT@ A G
¢ iv i i iv i i i
5 abcd F@ TG
ioioiv i TR VA

Q.No: 7

Which one of the following is not an element of National AR & & ST TS AT 7 T T R ?

Power?

Geography

Industrial capability
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it arerar



C Population STHET

D Military Treaties d=7 i

Q.No: 8 The Concept of "One for all, all for one" is related to "Teh qh T, T Uk o T Irqeron fAaifhd & @ fhed
7" 7 which one of the following? Teafa g ?

A Non-alignment e favdarar

B Balance of Power afFa dere

C Collective Security R gIaT

D Balance of Terror 7 He

Q.No: 9 Which one of the following is not a component of It & § i T ReeT &7 gew A8 R 2
77" 7 defence planning? '

A Money [T

B Machine L E]

C Man Power e afda

D Leadership Aqea

Q.No: 10 The author of the book "Nuclear War and Nuclear "R AN Td F RN S S § o &
T Peace" is: S S > )

A Y. Harkabi 1. ¥l

B H. Kissinger T, RS

C B.C. Blair a3 seR

D N. Polmar T 9

Q.No: 11 "If you want peace, understand war" Who opined this ? "3fe 39 iifcd =med &, df 9g o TARRA" Ig S e § ?

A Kautilya Fifeew
B Clausewitz FaTSIfACT
C Machiavelli AfFaraeh

D B.H. Liddell Hart AT, _RftT e



Q.No: 12
A

B

Q.No: 13

Q.No: 14

Q.No: 15

Q.No: 16

The "Eight pillars of peace" were given by:
Mahatma Gandhi

Nelson Mandela

Mother Teresa

Liddell Hart

"Guerrilla is meant not only to be an irregular fighter
but a fighter with a spirit of sacrifice, personal bravery
and unlimited patriotism." who opined this?

Alberto Bayo
D. K. Palit
Che-Guevera

Mao-tse-tung

Which one of the following is not an arms control
agreement?

NATO
SALT
NPT

MTCR

Who is the author of the book 'The Conduct of War'?
Clausewitz

Jomini

J.F.C. Fuller

A.T. Mahan

Match the following author(List - I)with their written
books(List - II)
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List-I List -1l
a.E.M. Earle i. World between the two Nations i\ -l 3\ -1
b. E.H. Carr li. On War a; gmaﬁ 1 a@' ﬁm a a— agm
c.Machiavelli  iii. Makers of Modern Strategy . : o
d. Clausewitz iv. The Art of War . g g, &R 2. Al dR
Code: 5
7. Aframaen 3. #FY I AlSel AL
g, Feloiacot 4.T 3¢ AE aR
FT:
A a-i, b-ii, c-iii, d-iv $-1, @-2, -3, 4-4
B a-iii, b-i, c-iv, d-ii #-3, @-1, 7-4, 9-2
C a-ii, b-iii, c-i, d-iv -2, @-3, 7-1, 9-4
D a-iv, b-ii, c-iii, d-i #-4, @-2, 7-3, 9-1
3 7 Tafors et # (G - 1) 7 3079 ganT gfadared
S _ TAGIA(FET - 1I) & A1 AT & 3TFF He I TTT N -
Match the strategic thinkers (List - I) with the theories > 2z O
propounded by them (List - II) and choose the correct H\?ﬁ - H\?ﬁ -l
code given below:
List-1 List-11 :
_ Listll . Hfehst 1. IR ggha
Q.No: 17 a.Mackinder i. Guerrilla Warfare )
b.Seversky ii. Theory of Air Power Q. qayehr 2. HRTOQﬁ?ﬁ' #1 Brgia
c.Lenin iii. Heartland Theory .
d.Che-Guevera iv. Revolutionary War aT, olfelel 3. QX ool &l m
Code: . Y-II 4. FifdPRT Ig
&e :
A a-i, b-ii, c-iii, d-iv %-1, @-2, 71-3, 9-4
B a-iv, b-iii, c-ii, d-i #-4, @-3, T-2, 9-1
C a-iii, b-ii, c-iv, d-i %-3, @-2, -4, 9-1
D a-ii, b-iv, c-i, d-iii #-2, @-4, T-1, 9-3
Q.No: 18 The abbreviation PTBT stands for : NEATE FracaT g
A Partial Test Bomb Treaty oIfiae & aiFa ddt
B Partial Test Ban Treaty ifRiae & d &
C Partial Test Bond Treaty Tifdiue &Fe dies O
D Partial Test Big Treaty aifdiger &¥e faor &&



Q.No: 19

Q.No: 20

Q.No: 21

Q.No: 22

Q.No: 23

Which one of the following treaty was signed in the
year 19687

PTBT
NPT
SALT-I

START-1

The abbreviation N.M.D. stands for :
No Missile Defence

National Missile Defence

Non Military Defence

National Missile Detterence

The meaning of "No War and No Peace" is :
Balance of Terror

Balance of Power

Cold war

Mutual Co-operation

Operation 'Desert Storm' was related to:
Gulf war

Indo-Pak War

Arab-Israel War

Vietnam War

The member countries of the organization BRICS are:

Belgium - Russia - Indonesia - China - Syria
Brazil - Russia - India- China - Syria
Brazil - Russia- India- China -South Africa

Bangladesh - Russia - India - China - Sri Lanka
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Q.No: 24 Who among the following coined the term 'Global fe=ifehe 7 & foheet fav@ & fow "dRge e erearael 1

Village' for the World ? LERIC T ?
A Marshal McLuhan AT AFeErer
B Adam Smith wsH Ay
C Bill Clinton frer fFeies
D N.J. Spikman .. FUSHAT

Q.No: 25 Which one of the following is not an element of conflict iR B T FeT TS STAHT & T A L 2

resolution?

A Mediation HETEYAT

B Peace keeping and Peace making erifaenfar va anfa @AATor

C Confidence Building Measures rearw sgrelt & 3uw

D Fencing on the violence prone broders Farra @At W)W Fdd dR 9T

Q.No: 26 The operation 'Neptune Spear' is related to: ORI 'ATegsT TR & {4 §
Killing of Col. M. Gaddafi ool TH. TETHT $T gedT F

B Killing of LTTE Chief Prabhakaran 2 vo@ Fsor Y g §

C Killing of Osama Bin Laden INTTAT 8T AT A geaT A

D Killing of Egyptian President Anwar Sadat fAea & wsgufar 3raav |ieTa Y g 3T §

Q.No: 27 Which one the following country proposed in the U.N., et & & forg er & TgFa Tsg A fooe FETATR 7 'ufey '

that the Indian Ocean should be a 'Zone of peace'? FoITeY &Y 91 T@r o ?
A India R
B Sri Lanka Areret
C Bangladesh LEEICU)
D Myanmar FITTAR

. Which one of the following is not a means of pacific e 3 STST & Tt frqery &7 ATere e & 2
Q.No: 28 settlement of disputes? AAFT =T 2 s e TEIE 7

A Arbitration ICCIEGH



Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Negotiation
Mediation

Blockade

Who among the following opined that "we will eat
leaves and grass and even go hungry but will definitely
make the atom bomb"?

Z.A. Bhutto
Gen. Zia-Ul-Haq
Gen. Parvez Musarraf

Nawaz Shareef

Who was the founder Chairman of Indian Space
Research Organization?

M.G.K. Menon
Satish Dhawan
U.R. Rao

Vikram Sarabhai

Which of the following country is not part of Indian
Ocean Region(IOR)?

India
Sri Lanka
Japan

Indonesia

South East Asia Treaty Organization (SEATO) was
previously known as:

Dales Treaty
Manila Treaty

ANZUS Treaty
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Q.No: 33

.No: 34

o o wm >» O

Q.No: 35

Q.No: 36

Q.No: 37

WARSAW Pact

Who among the following stated that 'Collective
Security is a technique of Management of Power'?

I.L. Claude
H.]J. Morgenthau
G.A. Finch

Palmer and Perkins

The 'SAARC' headquarter is situated at :
Dhaka(Bangladesh)
Kathmandu(Nepal)
Colombo(Sri Lanka)

New Delhi(India)

In the Year 2016, The 'Heart of Asia' Conference was

held at :

Islamabad
Beijing
Dhaka

Chandigarh

Who has propounded the 'Strategy of Indirect
Approach' ?

J.F.C. Fuller
Lenin
Henry Kissinger

Capt B.H. Liddell Hart

Identify the following treaties in their chronological

order choosing the correct alternative
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Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

PTBT - NPT - CTBT
CTBT - PTBT - NPT
NPT - PTBT - CTBT

PTBT - CTBT - NPT

Which one of the following is not an element of
'Panchsheel'?

Non interference in internal issues

Peaceful Co-existence

Mutual respect for the integrity and sovereignty
of each other

World Brotherhood

UN peace keeping is guided by these basic principles:
i. Consent of Parties

ii. Impartiality

iii. Non-use of force except in self-defence

Only (ii) is correct
Only (i) is correct
Only (ii) and (iii) are correct

All are correct

What are CBM's?

Concept Building Measures
Conflict Building Measures
Comfort Building Measures

Confidence Building Measures

Who among the following stated that "National
Security is the part of Government Policy having as its
objective the creation of national and international
political conditions favorable to the protection or
extension of vital national values against existing and
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Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

potential adversaries"?

Frank Trager and Frank Simmonie
Marx and Engels

Palmer and Perkins

Robert and Gibson

Which one of the following is not a component of the
Defence policy Formulation of a Nation-State?

Provisions for military resources
Deployment of military resources
Use of military resources

Creation of social cohesiveness

Which one of the following thinkers are related to the
theories of defence Economics?

Mark and Engels
Clausewitz and Jomini
Fuller and Liddell Hart

Adam Smith and Alexander Hamilton

Identify the correct Chronological sequence of the
following Defence Ministers Of India:

Pranab Mukherjee - A. K. Antony - Arun Jaitley -
Manohar Parrikar

A.K. Antony - Arun Jaitley - Pranab Mukherjee -
Manohar Parrikar

Arun Jaitley - Pranab Mukherjee - A.K. Antony -
Manohar Parrikar

Pranab Mukherjee - Arun Jaitley - A.K. Antony -
Manohar Parrikar

Which one of the following force is responsible for
providing security to airports in India?

Aviation Security Force
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.No: 46

.No: 47

.No: 48

.No: 49

Central Industrial Security Force
Central Reserve Police Force

State Police Force

The abbreviation W.M.D. stands for :
Weapons for Missile Defence
War Machine Defence

Weapons of Mass Destruction

War Missile Destruction

The Foundation stone of NDU(National Defence
University) was laid in one of the following state of
India:

Punjab
Madhya Pradesh
Haryana

Uttar Pradesh

Who among the following is known as the father of
India's Nuclear Programme?

A.P.]J. Abdul Kalam
K.Santhanam
Kastoorirangan

Homi Jahangir Bhabha

Which one of the following is not related with the
strategic partnership of India and France?

Civil Nuclear Energy
Defence Co-operation
Counter Terrorism

Climate Change
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Q.No: 50

Which one of the following two sea ports in South Asia
have been developed with Chinese assistance?

I. Gwadar

II. Trincomalee

II. Chittagong

IV. Humbantota

Codes:

I and III are correct
I and IV are correct

II and III are correct

III and IV are correct

faor o & AT § @ 5 ) seemg! 1 Ry D &

FggeT § fRar s & 2
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Part-B

Q.No: 1 Defence and Strategic studies is a combination of

Q.No:

3

Defence Policy and Foreign Policy
Strategic Thinking and Military History
Defence Economics and Defence Psychology

All are correct

Which one of the following is an intangible element of
National power?

Population
Military Capability
Geography

National Character

The concept that 'War is an instrument of State Policy'
was propounded by

Jomini

Clausewitz
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Q.No: 4

A

Q.No: 5

Q.No: 6

Q.No: 7

A

B

J.F.C.Fuller

Douhet

The Origin of strategic studies can be traced to :

Edward Meade Earle's seminar on grand strategy
and conduct of war

Hans Morgenthau's work on Politics amongst the
Nations

E. H. Carr's twenty year crisis that presents a
critique of liberalism

Thucydides writings on the Peloponnesian war

Which one of the following has been identified with a
"War of weak against the strong"?

Guerrilla Warfare
Desert Warfare
Mountain Warfare

Terrorism

In India, the Cabinet Committee on Security Affairs is
headed by:

The Prime Minister
The Home Minister
The Defence Minister

The President

The core values of National Security are generally
expressed as:

Safe guarding key installations

Safe guarding Airports and Seaports

Safe guarding national independence and
territorial integrity

Safe guarding the top leadership
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T[S & AGTOT §
The features of a nation are: 1. Ul T A9 ST foF A1 AEHia T AQIT 37 &
I. A sense of oneness that is born out of commonness N
of culture, ethnicity etc St &t
Q.No: 8 II. People who identify socially, mutually to establish a  II. a8 &I9T ST HIAITS, HERicHh FT & Teh Ggalel 3= fordy

separate identity for themselves ST
ITI. A distinct territory and a sovereign government .
Right answer is: II1. T 37ed H\qugf ol H&dee] H{PR
-\'Ta' 3ccX %’ :
A Only (I) is correct FaT I TR
B only (I) and (II) are correct Faa IR II R aH T
(o Only (I) and (III) are correct FaT IR ITIHTHE
D All are correct waft e
Q.No: 9 The Fighter plane MIG-21 is developed with TR - 21 FsTeR AT *1 AT et & Fgdier @ fomar am &
T coloboration with - -
A France Wi
B Britain e
C Russia T
D United State of America WIHA ToT AR

Which one of the following was the main factor that i T & Q i A= a9 o1 9 1947 ¥ 1962 O
Q.No: 10 had an impact on India's Defence Policy since 1947 to >

19627 AR T T&T Afd & genfaa fomar ar ?
A Military Co-operation d=7 g
B International Image IR SR
(o Non-alignment Tre-favdarar
D Regional Co-operations e affegfaar
Q.No: 11 :or:ﬁ)\t/ﬁ:g \';,grradt?egy' is derived from which of the TS g T 7§ A ScueeT g ¥
A Stratoso e @
B Strategos e ¥
C Stratologas FeAAT
D Stratotos TR |



Q.No: 12 Who is the author of "Politics Among Nations"?

A

B

0O w » O

O

.No: 13

.No: 14

.No: 15

.No: 16

Arnold Wolfer
Robert MacNamara
Andre Beufre

H.J Morgenthau

Who propounded the concept of "Strategic Paralysis"?
Marshal Foch

J.F.C Fuller

Capt.Liddellhart

Moltke

Which one of the following thinker has written on
Napolean and his warfare?

Niccolo Macheavelli
J.F.C. Fuller
Fredrick Engles

Antony H.Jomini

Which of the amongst the following names is
differentiated from the others?

Ajit Doval
Brajesh Mishra
K.Subrahmanyam

M.K.Narayanan

Which one of the following countries has encapsulated
'Minimum Credible Deterrence' as a part of its nuclear
doctrine?

America
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Q.No: 17

Q.No: 18

Q.No: 19

Q.No: 20

Russia
India

France

Threat, Commitment, Persuasion, Communication,
Credibility, Rationality and Option - These are the
ingredients of:

Balance of Power
Balance of Terror
Deterrence

Non alignment

Identify the correct code for Assertion(A) and Reason
on the basis of the code given below:

Assertion(A): "Army marches on its stomach"
Reason(R): A commander must know and administer
how to get his men, their ration and other things they
needed for them.

Codes:

Both (A) and (R) are Correct
Both (A) and (R) are not Correct
(A) is correct and (R) is not correct

(A) is not correct and (R) is correct

Who among the following stated that 'Geo-politics is a
Pseudo - Science'?

Barry Buzan
N.J.Spikman
Morganthau

S.P.Cohen

Who opined that 'War is a area of uncertainty'?

SHGEYT, fAREHAIT, 1e]UT Ud fashod - I Tt Foes ¢

oafFd HJeaT &
T WA F
gfeRIerdr &
TefaRderar &

Hferye (v) 3R aF (3R) & T T e 7 F8 3ca) &
TJIT FIfav ;

HRAFYSA (T) : "1 U F IMUR T 37T Tt g

& (IR) : Th HAUST & AT G J=7 & 3T TWreg
AIAAT (72T

GEIIRICE ] aﬁﬁ I AT 3T 3T 3HTHR SRl Tl el
HTERTH &

FT

(v) 3R (3IR) AN A T

(v) 3k (3IR) &= 9T &

(v) Wt ¢ 3R (3IR) Taa &

(v) e & 3R (3R) |

fArafaf@d 7 & fraat ser a1 i 9-Tarenfa v e faemer
g

H gt
.3 Rawde
ARfATS

. dLaReT

et heT foh 'gg iR &1 & §1'?
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Q.No: 21

Q.No: 22

Q.No: 2

Fuller
Clauswitz
Andre Beaufre

Adolf Hitler

Which one of the following is not considered as one of
the principles of war?

Demoralization
Mobility
Surprise

Concentration

Who said "If you win, you need not have to explain
if you loose, you should not be there to
explain"?

Adolf Hitler
Napoleon
Fidel Castro

Che-Guevara

g s

o~

Telew fReew

fAefaf@d & @ e v i g 1 gl 7Lt AT ST 872
FAlcHTEe (3THTE $7T)

faefiear

3T

HeAZOT

g g e § "Il 3 e ured d &, df TIsEaoT
Sl FT IMATRAT S gl g IR I 319 wifad g
&, Y FISEaRToT & & T ST det T & AT @nfew 2

wEiew frea
aaifereT
Reder Freat
F-I_AT

9

fAFfaf@a 1 2 T Fis i1 A & AT AT

Match the following with the help of given code: ﬁﬂ'l?a? W

) Thinker Book T. ot 30 N (') e
(a) Niccolo Machiavelli | (i) The Prince: - —
(b) Che-Guevara (iii) The Conduct of War 9l g (i) = 75 3”(' ar
(C) Marshal Foch (ii) Guerilla warfare gl 9=ld Brg (iii) “Llr?c'oﬂ &
(d)J.F.CFuller (iv) The Principle of war - - —
Codas: Sl SUEHIHAR (iv) T fif¥ue of% ar
abcd abcd
i i iii iv i i idii iv
abcd abcd
i dii v ii i dii iv ii
abcd abcd
i v dii i i v iii i




D

abcd
iv i ii iii

abcd
iv i ii iii

Q.No: 24 Who is the author of book "War and Peace"?

A

B

0 W

W)

.No: 25

.No: 26

.No: 27

Bertrand Russel
John Foster Dulles
Leo-Tolstoy

Karl Marx

Which one of the following is the highest battle field in
the world?

Tawang
Thagala Ridge
Aksaichin

Siachin

The Soviets generally used this phrase to convey the
meaning of 'detente’:

Imperialism
Peaceful coexistence
Peacestroika

Massive retaliation

Which one of the following was the first Arms Control
agreement of the cold war period?

INF Treaty
Outer Space Treaty
Antarctic Treaty

Treaty of Tlateloco

"I TUS Ui Y& & e hiel § ?
LS WA

SITeT BIEET SAH

foraY-erereer

FIe ATEH

feF=tifehe & @ T favE i Galiereh Far$ arerm Ig &iF ¢ ?
aamr
grere Rt

IFAERT
Rramfer

T AT 'FArad e’ &1 31 gare & O 57 areg 1 gAer
L B

Iufadwarg

arifarqot wearfdaea

dragrse

AETHI FfAhR

et & @ sl @1 Neagg Frer &1 TUH RN FIT0T FHSHAT
a1 ?

arg Jafker wfer
e witr
Tafees wfYr



28 Choose the name of the famous book which was

Q.No: written by A.T.Mahan? U.@f.mﬂaﬁmﬁﬁﬁwwmgﬁﬁ ?

A Sea power of Britain Y feR 3HTE feeeT

B The Prince g Rw

C Probable Aspect of Future War Waferer 3T A6 FIER R

D The Influence of Sea Power upon History T STFeCH 36 A 9TaT AT ey

Q.No: 29 The term "Pashupati to Tirupati” was used for which of "oyafd & fATafd aw" Aserdell 1 AT fFeifhd # &
the following ? o o fraramar & 2

A Red corridor under the Left-Wing Naxalism TATHY AFHAarE F refeT darer afoAR F v

B India-Nepal Relations HRA-AUTT el F v

C A Project Of Indian Railway ARAT Yo Y v IRAST & v

D None of these are correct FIH { FI @l

Q.No: 30 The first non Aligned summit was held at: TUH ITAIET FFATT FooT G3TT 2T

A Bandung g

B New Delhi % el

C Belgrade CCDE

D Colombo FrerFar

e 7 et it T ¥ fAwifd givar ot 3 et
Match the following intelligence agency and their r G A T :

countries with the help of the given code: m a_g.l.
Agency Country T, -Q—q@n—&#_ 6 (i)fﬁ:f
Q.No: 31 | (a) MI-6 (i) China -

(b) MOSSAD | (ii) Israel 41 HIT1G (i) Uit

(C) KGB (iii) Russia 1. p ST i) 9
(d) MSS (iv) Britai
Ebdes: . <. THUE.UY. | ovfacH
A abcd abcd
i i i v i i dii v
B abcd abcd

i iii iv ii i iii iv ii



D

ab cd
i iv iii i
abcd

iv i ii iii

abcd
il v iii i
abcd

iv i ii iii

Q.No: 32

o 0O m >

Q.No: 33

Q.No: 34

Arrange the following in cotrrect ascending
chronological order by using the code given below:
(i) Chemical Weapons Convention

(ii) Biological Weapons Convention

(iii) Arms Trade Treaty

(iv)Ottawa Treaty on Anti -Personal Mines

i, 1i, fii, iv
it i, iv,iii
i, iii,iv,i

iii, ii, i, iv

Which of the following is not considered as a factor for
exacerbating Low Intensity Conflicts (LICs) against
India?

Foreign Hand and movement of extremist groups
Narco-Terrorism
Proliferation of small arms

Social Media

Choose the correct chronological order on the basis of
the codes given below:

Anti Ballistic Missile Treaty -> Intermediate
Range Nuclear Force Treaty -> Strategic Arms
Reduction Treaty -> Strategic Offensive
Reduction Treaty

Strategic Arms Reduction Treaty -> Intermediate
Range Nuclear Force Treaty -> Strategic
Offensive Reduction Treaty -> Anti-ballistic
Missile Treaty

Strategic Offensive Reduction Treaty -> Anti
Ballistic Missile Treaty -> Intermediate Range
Nuclear Force Treaty -> Strategic Arms
Reduction Treaty

Intermediate Range Nuclear Force Treaty -> Anti
- Ballistic Missile Treaty -> Strategic Offensive

fArafaf@a #1 e FATaR HRE Ha 7 sgafdyd w1 3R
HIS A HEl Sca HI IIeT B

L. TErfAe 3P FHodrle

I1. Sifdeh 3L Foalel

I11. 3 AR i

V. e R (afafas) [ewe ear i

i, ii, i, iv

i, i, iv, iii

ii, iii,iv,i

i, ii, i, iv

R el A= rgar gt (Ter.3mS.3) 7 3 9= & v
Aeifrd & @ 50 U FRE AST AT ST § ?

el g1y va saraTdy wHEt A gerae
aefter weref ox amenfa sndware

B FRAERY F1 @R
TrATSS AfSAT (|verd #Hfar)

AT &l el HATTAR IRIET hel H FAREUT Y 3R
FIS F TET e T TTT FX ©

wodt -daffes ama w@fY - sveEifdve I et o
@ - FEdfes e Regae 8 - Eafos sisfcag
ReFaer s

wHdfad I ReFwa @i - sverifdve I3 ~fFaw v
@ - Tafas tbEag Regws @ - wod) -afes
Rrarse @Y

wafoF hfeaa Revua df - vodt -dafes P afr
- gueTHIfRTE {a fFeaR B 6 - Tl e Reawar
wfer

guetHIfRTe I ] o1 6 - vod) -dafees Pama



Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Reduction Treaty -> Strategic Arms Reduction
Treaty

Who among the following advocated for waging
'‘Limited Nuclear War' in the nuclear age?

Henry Kissinger
Harkavi
Robert Mac-Namara

John Baylis

As an arms control agreement 'START' seeks to:
Implement the INF agreement

Go further from SALT I and I1

Remove the difficulties in implementing the NPT

Implement the outer space Treaty

The UN agency Which looks after the problem of
refugees:

UNICEF
WHO
UNHCR

UNESCO

Which one of the following countries does not have a
strategic partnership with India?

America
France
China

Russia

% - e bTaT Revas &Y - Eafeas 3m
Resger @it

foet & @ fohaet AR o1 # WA AfHRT Ig' o3 STt
Y JeTeRAT Y

el Rl
T

TEE AFATHRT
St afew

Teh A& =0T gAsid & §9 7 '&&E I §
IHTE.UA.TF Y Y 30T 98+

FTee I U9 I & 3 g1t &1

. N # rafeaa w3 7 ) WY aunsh # gem
e FaReT W F Brafead w7

TGl TSE T8 Toledll ST QROUMTAT hT FHAEATHT 1 S@rel &
Iaaw

o~
30021‘\.@.311'
.U UL HL IR

PRC AR R R

fAFAifoha 32t & & g ARA & TTY TATISh ATSAGRT oTal
g2

IARFT
oy

Sic
T



Q.No: 39

Q.No: 40
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Q.No: 41

Q.No: 42

Q.No: 43

The Origin of the crisis in Chechanya was based on the
following factors:

Ethnic hatred and territorial claim
Military Operations by the Russians
External Involvement

Political instability in Russia

'A-Orange' was used by United states in one of the
following wars:

Second World War
Vietnam War
Gulf War -1

Gulf War - 11

Which one of the following purpose is not served by
the Arms Trade Treaty, adopted by the UN General
Assembly on April, 2, 20137

To foster peace and security by putting a stop to
destabilizing arms flow to conflicts - prone
regions

To prevent human right abuses and violations of
Law of War

To prevent War-Lords, pirates and criminal gangs
from acquiring deadly tools of violence

To limit arms trade between selective groups of
countries

Which one of the following is a cruise missile?
Agni

Naag

Trishul

Brahmos

The concept of "Threads without Enemies" is linked
with one of the following in the security discourse:

IISTT H ohe &l 3RET [AeT & O 59 deg 9 3menRa ar ?

e gom 3k & g
T gaRT 47 gHaT

areg |fercdar

T A Teretfaw srfeuar

'T-3ST BT HYF AT AR @R 701 § @ v gg &
oTeT fRaT T ?

g e g5 &
Raemr 35 #

g Ig - AT A
wTé 35 - afach

TYFT TSE T T AGTAHT eaRT 2 3T 2013 1 AR v =iy
FIRIOR AR | AT ed # & fohd 9 o] o787 giail |

wu¥ & Wnfaa & F 3 varw F frereEwor F A &
Farawy "Auifa F GgRY F |

AT HAFRY & gt AR TG F FE[@A! F Ieaaa H Qhell

e woreitel, wEIRF awgat sk iR @l (qer) A
uTds A AT A ITASHr HY Aehell

Teet & gfaeer aHgt # HYY AR H NAT Few

"I & I @R AT AR T AL & Hoddd He=T
A O e greyua ¥
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Q.No: 44

Q.No: 45

Globalization
Environmental Security
Technology Transfer

Illegal Migration

Choose the correct code for Assertion(A) and
Reason(R) on the basis of the code given below:
Assertion(A): Globalization has broken all the
barriers of tradition, culture, ethnicity, religion, trade,
transfer of technology, inter-operability, national
security and so on.

Reason(R): The information technology and
communication technology has played decisive role in
the metamorphosis of the world into a global village,
eventually amounting to "Think globally and act
locally".

Codes:

Both (A) and (R) are correct
Both (A) and (R) are not correct
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Identify the correct code for Assertion(A) and
Reason(R) on the basis of the code given below:
Assertion (A): The expansion of security council
needs unanimity among great powers. However the
great powers are not enthusiastic about the expansion.
Reason(R): This is mainly because their national
interest are not at stake while some great powers are
also not in favor of some claimants".

Codes:

Both (A) and (R) are Correct, but (R) is not
proper explanation of (A)

Both (A) and (R) are not Correct but (R) is the
correct explanation of (A)

(A) is correct and (R) is not correct

(A) is not correct and (R) is correct

wafavofir e

wigAifarhr gFareaor &
e AT §

fAFeT 31ffisee (v) 3R & (3R) & fav & 1 #1s (F2) &
TEY 3cR &1 TIF AT :

FfAFYe (T): AAHOT A IFRT, FEHIA, FoArehgdr, o,
SATYR, WA T k0T, HecR - FhaTcHehd, IS FR&T
scaTfe & gt e ger R ¥

T& (IR): FIT Td FOR FIe AT o GaR 1 dRaes e &
T H TUedRd A fgar § oraenr aRoma faeE wadg Riad
3R TUT TR R FF A T 9RO §

%C .

o

(v) 3R (3R) S TT

(v) 3R (3IR) = 3T &

(T) W& §, Weq (IR) W aAdT &
(v) 78 7€t & safH (3R) ¥ ¥

fAFstifhd 3fwYe (T) 3R aF (3R) & faT @@ He =t
Rifegd HifaT :

FffFyer (T): et gRve & faEaR & Fgrerfaadr & &
AT Y G §1 AT FgrIFaar RAear & gFaey &
G R

& (IR): SHAN HET HROT ¢ foh 3ofeh TG el woh FATT
el & s FROT 1 $o AGRITFTAT $o QAT & Ta7 #
gl

C

Y

() 3 (IR) g T § AfheT (3W), (T) F T swTE_
A

(%) 3 (IR) g T § AfheT (3R), (v) i 7 wrEAT R

(v) 98 §,3fFa (3IR) T &
(T) 79 §, A (IR) F@ ¥



Q.No: 46 Who among the following asserted the "climate change %= # & I &=t shgT a1 o6 "EEH gRadT Hicehare” & ol

is a bigger threat than terrorism"? CEIRCGEUN
A David King 3fas fFar
B R.K. Pachauri HR.&F. 99
C Hannes Alfoven W vemfaa
D Tony Blair A ST
AT T GATAT X ST IS HT TFT F el Sk Al
o
Match the following and choose the correct answer . (i) SHIQ QF ?1 Qlaﬁl(lzﬁ
from the codes given below: (Q) 3{1?_‘6{ W
(a) Morton Kaplan (i) International Political Economy HRAGqRIT
Q.No: 47 | (b) Oskar Morgenstern | (ii) Realism (gﬁ) AP Aetrea (ii)m
(c) Immanuel (iii) Games Theory }ﬁ < =
(d) EH. Carr (iv) System Theory ( ) EIHW (i) 4 1 CARESR
(v) International Society (@) gq.—dw (Iv)mﬂ 67l m
(v) At @ia THIo
A a-iv, b-i, c-ii, d-iii a-iv, b-i, c-ii, d-iii
B a-v, b-i, c-iii, d-ii a-v, b-i, c-iii, d-ii
C a-iii, b-i, c-iv, d-ii a-iii, b-i, c-iv, d-ii
D a-iv, b-iii, c-i, d-ii a-iv, b-iii, c-i, d-ii

G - 1 & edIT THgt 1 Gl - 11 & FeR/AGENR & gafad
Match the following Islands in Table - I with their S 39YFd HIS FT A H :

(r:isrfsccttigsd(s;as/Oceans in Table - II and coose the Q:Lﬁ‘[ I (g‘rq) ﬁ:\rﬁ I (‘{‘H‘N/ H8|‘H|‘|‘<)
P R Ll
Q:No: 48 (a) Cocolsland (i) South China Sea ql _éTq (i) q;cﬁ ?‘ﬁ:[
(b) Parcellsland (i) East China Sea Qﬂ'\eﬁ_cb—[_cﬁ Eﬁq (i) W E[)“[ Eﬂ@
(c) Senkaku Island (iii) Bay of Bengal — FE -
(d)New-Moore Island | (iv) Indian Ocean Sl Ry{{? équ (iv) EEIN
az\_cf 3
A abcd abcd
i v i i iiv il i
- abcd abcd

iv i i iii iv i ii i



Q.No: 49

Q.No: 50

Q.No: 51

Q.No: 52

abcd
Wi i iiv
abecd
i il ivi

Who among the following stated that "Religion is not
the opium of people , but the vitamin of the weak"?

Regis Debray
Karl Marx
V.I. Lenin

A.H. Nasution

Jean Baptist say introduced the following idea in the
context of War:

Human Capital
Defence as public good
Deficit finance

Financing wars through taxation

The degree to which state cluster in alliance around
the most powerful members of the state system is
known as:

Unipolarity
Bipolarity
Polycentric

Polarization

Which one of the following functions/powers of the U.N
Security Council concerning peace keeping in Conflict
ridden areas, has not been specifically provided in the
U.N. Charter and is held as innovation?

Peace Keeping : Persuasive role

Peace Keeping : operations

abcd
il iiiiv
abecd
il il ivi

fArtifend & ¥ foraet aver o1 f&F s drent & fow 3nhie 78T 8,
gfesr e & fav faerfaa &

Worw 39

FTel ATEH
dr.3mé.Afae

T U AT

I & et # St dufeee & wafaf@a far & e
AT &

s oh
T&TT UF el WA & 59 &
°re #r faq sgaedr
T ganT faedraer

AT JUTTR & HATUF AfFAMTe Feedt & °g IR FASAT
AR 31 AT ThiAd 81l &, $H JOTell 1 Fgd ¢

T qadr

qg Fedradn

UCicauy

9

THIG dlel 8131 H AT TAAT e § Fealeerd FgeFd T
&t aRve & Aefafad & @ g gehrd/erfed &1 dged
TS & 1T H AV 3T @ Yraens 81 fohar a2 § 31T 3@ 71a-
3cTE, AT I3 §1

AT FATIAT : WA ATelt S{fAFT

Aifa FATIAT @ GFaeeh HfAAT



Q.No: 53

Q.No: 54

O O ® >r

Q.No: 55

Peace Keeping : using coercive authority

Peace Keeping : through regional organizations

In which one of the following central Asian countries
has India established its military base?

Uzbekistan
Turkmenistan
Tajikistan

Kyrgyzstan

Arrange the following in the correct ascending
chronological order by using the code given below:
i. Sea Bed Treaty

ii. Outer - Space Treaty

iii. Antarctic Treaty

iv. Arms Trade Treaty

codes:

i, ii, i, iv
i, iii, iv, i
iv, iil, 1i, i

i, ii, i, iv

Match the following and choose the correct answer
from the codes given below:

a.ImmamualKant
b.Johan Galtung
c. Woodrow Wilson

1. Perpetual Peace
2. Liberal Internationalism
3. Non-alignment

d. V.l Lenin 4. Right to self - determination
5. Structural violence

abcd

1524

abcd

2351

abcd

enifay TATY=T : qaTaefier 3T FT IR
AT Faea! ¥ ATegH F Aify Tg=r

oot e vhrs gt & O fhwe sIRa o A= 333 T
BN

IsafredrT

GELIGIGICH

9

GUEICZICH
[Lancsicy

fAFATTSRC TS T TIT HI §U folat Ty 1 IR el
FIel SHATTHAR oSy :

i. @ 93 ey

i, 3M3er-Tug afey

iii. 3ieTehies Ao

iv. 3MF ¢3 afeer

FS

i, i, 1ii, iv
ii, i, iv, i
iv, ifi, ii, i

i, i, i, iv

A& &t GATIT FX 3UGFd HI5 & TIT FX FeY 3cci
>

([T) S9eet B 1. WA Wi

(d1) SIer TMeeT 2. SeRET] orRicTaag

() g3 faeg  3.77c fRuera

(S) dlamgelfe 4.3 foralRur &7 SfRBR
R ICEIREAER

o

9 N9 =90
T WO 0o
N O

0o uo
O o a0
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.No: 56

.No: 57

.No: 58

3124

abcd
5123

Choose the appropriate code for the Assertion (A) and
Reason (R) as below :

Assertion(A): National Security policy encompasses
the decisions and actions deemed imperative to
protect domestic core values from external threats.
Reason(R): India is facing both internal and external
security threats for which it needs to increases its
defence budget.

Code:

(A) is true, but (R) is not the correct explanation
of (A)

Both (A) and (R) are false
(A) is false, but (R) is true

(A) is true, but (R) is false

Identify the correct code in ascending order for the
following phases of international action suggested
under 'Agenda for Peace':

i. Preventive diplomacy

ii. Peace building

iii. Peace enforcement

iv. Preventive deployment

Codes:

i, ii, iii, iv

Who amongst the following was called as 'Red
Napoleon'?

Mao Zedong
Lenin
Ho-Chi-Minh

Vo-Nguyen Giap

3124

abcd
5123

ARy (v) 3R T (IR) & T 3uged e gaT
FffFgeT (v): UsErg gRaT AfT F 3 @it faoky ik fhare ar
STl § foiee aTed @all @ oo HeT Hedl i @7 & fow somr
JTaRTH THST S |

T (IR): SR Y FIET HI e AR Healks T g,
ST foIT 33 T&TT Soic SoTel &7 3TaTHhdT ¢

FT

LN

(v) 78 ¥, T=a (3), (V) FY T sqrear 787 &
(v) 3R (IR) A TTeaT &

(T) 7o §, o (IR) FE &

(T) & 8, Teq (IR) 7T &

"MifeT & T TusT” & el AR T ek He Al &
Arafafad JsEt @ T IR HF J ggar Hifav :

i, foRreres pesifar

i, enfar TUTI=T

iii. QAT T ST T

iv. Rt 3= g3

%hc

4
i, ii, iii, iv

TGS 7 & Fh8 I8 AUITogeT' gl a1aT 27 |
AT Sgrr

afas

a-f-fAwe

- 7T



Q.No: 59

Q.No: 60

Q.No: 61

Q.No: 62

Q.No: 63

The SAFTA agreement was signed on 6™ Jan, 2004
during the 12" SAARC Summit held in:

Colombo

Kathmandu

New Delhi

Islamabad

Which one of the following is not one of the tools of
"Confidence Building Measures"?

Communication
Transparency
Verification

Counter Proliferation initiative by Super Power

'Chakma' Refugees originate from:
Bhutan

Nepal

Sri Lanka

Bangladesh

Which one of the following is the best conflict
management approach in practice:

Avoidance
Domination
Accommodation

Consensus

Choose the appropriate code for the Assertion (A) and
Reason (R) as below :

Assertion(A): A new phase of globalization has
emerged in which the developing countries play on
important role as a new and additional engine of global
economy.

Reason(R): The emergence of some developing

AT HASIAT 6 Sefall 2004 1 gEATR g1 T | Tg
AT 58 129 61 GFAT A g3, ¢ AFATT TFdeed 3T
Q]T-

FrerFar &

FIGATUZ #
7§ fedh #
gEaTag A

eaTifha & T ST "R¥eara AT IUrIT" T AT AST § ?

'TAT' RONTIAT &I 3597T §
T |

AqTer |

Licea kol

TR ¥ |

et # & Fle7 c7agR A faare Yt 3UnTH g Hafedd © ?

TRER
srfauer
AT

A wEAfY

AT (T) 3R IF (3R) F Ao A3 T T 3ck 1 TIqA
ST |

HWFYA (T) - AT TH AIT IS 3IRT &, HE@H
faeraefier ¢er afas 3rdcgaeer & v 7% vg Afaked s
& ®q 7 Agcaqot s1fHer e @ |



Q.No: 64

Q.No: 65

Q.No: 66

countries as regional and global dynamos of trade and
investment is being witnessed.
Code:

Both (A)and (R) are correct, (R) is the correct
explanation of (A)

(A) is correct, but (R) is not correct
(R) is correct, but (A) is not correct

Both (A) and (R) are incorrect

Origin of the word 'Blitzkreig' is from :
German Language
Spanish Language
English Language

French Language

Match the following with the help of correct given
code:

Table -1 Table-II
a. Chetak i. FighterPlane
b. Sukhoi ii. Missile
c. Agni iii. Helicopter
d. AWACS iv. Radar
abcd
iildiliv
abcd
v il i
abcd
i i i iv
abecd
il v

Match the following books (Table-I) with their
writers(Table-II):

& (IR) - AR v Aaer & e 7 aRas aferd g1 & &1

# Fiauy [geraeficr 2t ST 3eHa ST AT W@ |
COEH

(T) Ta A axAt WE 7 3R (3W), () Fr w9 sArEATE |
(T) T 8, R (3R) T A |

(3R) T §, WY (V) T AL E |

(T) T (IR) AT T AL & |

TeeTEsThIaT (TS FATRT) 2ree T 3cufed €5 &
STHAT s &

waferer smaT &

3l omeT &

T o/

i ¥ R 7 W H1s A e ¥ AT AT |
I — | = =1

EREY i. g8 faae

qE@E i, TETATA

g
A

§ o B 8 a

abcd
il iiiv
abcd
v il i
abcd
i 0 v
abecd
il iv i

fAeAifehe qecderl Fa-1 &1 e 73 HIs HiT FAee F 30
et FE-11 & |1y gaAfad HfAv |



Table-I Table-II “\’ﬁﬁ = -‘T‘ﬁ S5

(Books) (Writers) () (@=s)
a. Kashmir : Towards Insurgency i. A.P.J. AbdulKalam g O
b. Nuclear India ii. Ved Marwah 7. HWN : ST gAvedl . TS 5 FAM
¢. Wings of Fire iil. Balraj Puri ; .. %
d. Uncivil Wars iv. Jasjit Singh 1. feerre e I G2 AR
Code: LA o o iil. SRS T4
(3 1 SeM)
S, grfaet o v. S g
S
A abcd abcd
il diiiv il diiiv
B abcd abcd
i iv i ii i iv i ii
c abcd abcd
v il i i v il i i
b abcd abcd
i i v i i i v i

Q.No: 67 Which one of the following is not a member country of T &  FieT 28T (ETF) F FGET TS AL 2

SAARC?
A Afghanistan HEMfAEd
B Nepal AqTeT
C Myanmar AR
D Bhutan e

A the following is chronological ord di 3w o S e
rrange the following is chronological order according )
to their occurrences, using the correct code given HifTT| A o a1 wEr s T AT HfoC

below: I. HRAT FHE IR gHell
I. Attack on Indian Parliament

Q.No: 68 II. Attack on Pentagon I e
III. Attack on Mumbai I11. FFS TR §HI
IV. Attack on Bali Island IV. 9TelT &g oY gHell
Code: s -

A I, I1, III, IV I, II, III, IV

B III, II, I, IV III, II, I, IV

c II, I, I1I, IV II, I, III, IV

D IV, I, III, II 1V, I, III, II

Q.No: 69 The "New Great Ggme in central Asia over access of T TR & 3ot F gaTust 6 3T B 991 AdeT
energy resources is centered on one of the following: ~



Q.No: 70

Q.No: 71

Q.No: 72

Q.No: 73

Relations of U.S., Russia and China
Relations of Europe and Central Asia
Relations of U.S., China and Central Asia

Relations between China and Central Asia

Which one of the following countries has followed the
"National Security strategy of Engagement and
Enlargement" worldwide?

America
Russia
European union

China

Heroin Production in Myanmar has become a source of
"norco - terrorism" through

Golden Triangle
Golden Crescent
Central Asia

Khunjreb Pass

The strategy of 'Minimum Nuclear Deterrence' is
reversed by:

No first use
First Strike
First use

Pointed Defence

Which one of the following is not a part of Human
Security?

Freedom from Want

Freedom from Fear

AR (77 T A7) T 7 § tF R Ffoad §
. TH., T a7 A & FFaey

TUT YT 7ET TRIAT F FFaey

7. vq., i AR Fe ol & weaey

=T TUT Fe TRIAT & GEaey

fFrafaf@a # & fFa gor o [em o) 7 "t RagRe
TSI 3T SAeTee VUS Seollotdee" &l 3fafdTelel fohar §

IARFT

Foe sy
TR gfaaer
o)

FATHAAR 3 S BT ScdTae feldsT & ST ATl HTdHaTG Fl
EHTSTIMATE :

wafoter fBaror
waftier sredeaeg
Hedr (AT) it
gona &

'TYATH AR $ATGIge T AT A ot ror &
AAFH A AT :

TIH TN TET
YA WeR
TUH JANT
Rfega

e & @ leT @7 dea AT GI&T &1 37 76T 8 |
arsrrat & HiFd
T q ARFT



Q.No: 74

Q.No: 75

Protection and Empowerment of People

Security through Arms

Which one of the following technologies led to the
process of Globalization?

Information and Communication Technology
Remote sensing
Radio Detection

Computerization

Identify the correct code for Assertion (A) and
Reason(R):

Assertion(A): Some of the powerful nations may
interfere in the internal affairs of the weaker
developing nations by misusing the legitimacy of the
United Nations.

Reasons (R): The economic and military supremacy
leverages such situations under certain conditions.
Code:

(A) is correct but (R) is not correct

(A) is not correct, but (R) is correct

Both (A) and (R) are correct, but (R ) is not the
correct explanation of (A)

Both (A) and (R) are correct and (R) is the
correct explanation of (A)

FT-TIETOT T GATFARIOT

Qwa;mwﬁ{gm

fe=ifend 7 & fore e faeht & T spruseator
(A=RROT) T AT E3T |

I U9 AR Fig@fahy

JI WA

A FHIT (TETA)

FEegelFIor

o~

3fReya (T) 3R a& (3R) & v et S F TEr 3cak #r
T HITAT :

HfAFY (T): Fo ATFAATC 21, FYFc ISg Y Jerer Fr
&I ek ToAdel fashraeiier aeif & Hlecieh AT &
&8I HX Tohdl § |

& (IR): 3R aur e afoadr $o R 7 o
et & dqfoaa s |

T :

(T) W& ¢, e () FA AL &

(v) wér ¢t &, srafF (3) | ¥

(v) 3R (3W) 2t T §, W (3W), (T) $ T 7@
T 81

() 3R (3R) A1 | 8, 3R (IW), () A ¥ swrEAT



